Chapter 10 Cash and Funding Strategies

Answers to Examination Style Questions
Answer 1
(a)

The following factors will influence the rate of interest charged on the new bank loan.

Risk of default

The bank providing the loan to Blin will make an assessment of the risk that the company might default on its loan commitments and charge an interest rate that reflects this risk. Since Blin is listed on a stock exchange it will be seen as less risky than an unlisted company and will pay a lower interest rate as a result. The period of time that the company has been listed may also be an influential factor.

Since Blin has expanded sales significantly and relies heavily on overdraft finance, it may be in an overtrading situation. This could increase the risk of default and so increase the rate of interest charged on the loan. The bank would need to be convinced through financial information supporting the loan application, such as cash flow forecasts, that Blin would be able to meet future interest payments and repayments of principal.


[2 marks]
Security offered

The rate of interest charged on the loan will be lower if the debt is secured against an asset or assets of the company. It is likely in Blin’s case that the loan will carry a fixed charge on particular assets, such as land or buildings. In the event of default by the company, the bank can recover its loan by selling the secured assets.


[2 marks]
Duration of loan

The longer the period of the loan taken out by Blin, the higher the interest rate that will be charged. This reflects the shape of the normal yield curve.

[1 mark]
Yield curve

1.
The normal yield curve shows that the yield required on debt increases in line with the term to maturity.
2.
One reason for this is that loan providers require compensation for deferring their use of the cash they have lent, and the longer the period for which they are deprived of their cash, the more compensation they require. This is described as the liquidity preference explanation for the shape of the normal yield curve.

Other explanations for the shape of the normal yield curve are expectations theory and market segmentation theory.
3.
Expectations theory suggests that interest rates rise with maturity because rates of interest are expected to rise in the future, for example due to an expected increase in inflation.
4.
Market segmentation theory suggests that the market for long-term debt differs from the market for short-term debt.


[3 marks]
Amount borrowed

The rate of interest charged on the new loan could be lower if the amount borrowed is not a small sum. It is more convenient from an administrative point of view for a bank to lend a large sum rather than several small amounts.


[1 mark]
(b)

The approaches that Blin could adopt regarding the relative proportions of long- and short-term finance to meet its working capital needs have been described as conservative, moderate and aggressive.

The assets of a business can be divided into current assets and fixed assets, where current assets are used up on a regular basis within a single accounting period and non-current assets benefit a business for several accounting periods. Current assets can be further divided into permanent current assets and fluctuating current assets. Permanent current assets represent the core level of investment in current assets needed for a given level of business activity, and arise from the need for businesses to carry stock and to extend credit. Fluctuating current assets represent a variable need for investment in current assets, arising from either seasonal or unpredictable variations in business activity.

1.
A conservative approach to the financing mix would emphasize long-term finance as the main source of working capital funds. This approach would use long-term finance for non-current assets, permanent current assets and some fluctuating current assets.
[1 mark]
2.
Long-term debt finance is less risky to a company than short-term debt finance, since once in place it is not subjected to the dangers of renewal or immediate repayment, but is more expensive in that the rate of interest charged normally increases with maturity.
[1 mark]
3.
A conservative approach would therefore increase the amount of lower-risk long-term debt finance used by the company, but would also incur higher total interest payments than an approach emphasizing the use of short-term debt, and so would lead to relatively lower profitability. A similar argument can be made with reference to equity finance, which requires a higher return than long-term debt finance.
[1 mark]
4.
An aggressive approach to the financing mix would emphasize short-term finance as the main source of working capital funds. This approach, which is currently being used by Blin, uses short-term finance for fluctuating current assets and some permanent current assets, with long-term finance being used for the balance of permanent current assets and non-current assets.


[1 mark]
5.
This increases the relative amount of higher-risk short-term finance used by the company, but will also incur lower total interest payments than the conservative approach discussed above, leading to relatively higher profitability.
[1 mark]
6.
Between these two approaches lies a moderate or matching approach. This approach applies the matching principle, whereby the maturity of the funding is matched with life of the assets financed. Here, long-term finance is used for permanent current assets and non-current assets, while short-term finance is used for fluctuating current assets.
[2 marks]
7.
The repayment of the overdraft will result in Blin adopting a conservative approach to the mix of long- and short-term finance. This will resolve an overtrading situation, if it exists, but may reduce profitability more than necessary.
8.
If Blin continues to expand sales, or reintroduces overdraft finance, the conservative position will only be temporary and a moderate position may arise in the future. The speed with which this happens will depend on the size of the loan taken out, and whether a moderate position is desirable will depend on the company’s attitude to risk and return. It may be preferable to reduce the overdraft to a lower level rather than repaying it completely. A clearer picture would emerge if we knew the intended use for, and the amount of, the balance of the loan not being used to repay the overdraft.


[2 marks]
(c)

Meaning of cash operating cycle:

The cash operating cycle is the length of time between paying trade creditors and receiving cash from debtors. It can be calculated by adding together the average stock holding period and the average debtors’ deferral period, and then subtracting the average creditors’ deferral period. The stock holding period may be subdivided into the holding periods for raw materials, work-in-progress and finished goods. In terms of accounting ratios, the cash operating cycle can be approximated by adding together stock days and debtor days (debtors’ ratio) and subtracting creditor days (creditors’ ratio). If creditors are paid before cash is received from debtors, the cash operating cycle is positive; if debtors pay before trade creditors are paid, the cycle is negative.


[2 marks]

Significant level of working capital management:
1.
The significance of the cash operating cycle in determining the level of investment in working capital is that the longer the cash operating cycle, the higher the investment in working capital.
2.
The length of the cash operating cycle varies between industries: for example, a service organization may have no stock holding period, a retail organization will have a stock holding period based almost entirely on finished goods and a very low level of debtors, and a manufacturing organization will have a stock holding period based on raw materials, work-in-progress and finished goods. The level of investment in working capital will therefore depend on the nature of business operations.

3.
The cash operating cycle and the resulting level of investment in working capital does not depend only on the nature of the business, however. Companies within the same business sector may have different levels of investment in working capital, measured for example by the accounting ratio of sales/net working capital, as a result of adopting different working capital policies. A relatively aggressive policy on the level of investment in working capital is characterized by lower levels of stock and debtors: this lower level of investment increases profitability but also increases the risk of running out of stock, or of losing potential customers due to better credit terms being offered by competitors. A relatively conservative policy on the level of investment in working capital has higher levels of investment in stock and debtors: profitability is therefore reduced, but the risk of stock-outs is lower and new credit customers may be attracted by more generous terms.

4.
It is also possible to reduce the level of investment in working capital by reducing the length of the cash operating cycle. This is achieved by reducing the stock holding period (for example by using JIT methods), by reducing the debtor deferral period (for example by improving debtor management), or by increasing the creditor deferral period (for example by settling invoices as late as possible). In this way an understanding of the cash operating cycle can assist in taking steps to improve working capital management and profitability.


[5 marks]
Marking Scheme

[image: image1.emf]
Answer 2
(a)
Cash Budget for Thorne Co:

	
	January
	February
	March
	April
	Marks

	Receipts
	£
	£
	£
	£
	

	Cash fees
	18,000
	27,000
	45,000
	54,000
	[1]

	Credit fees
	36,000
	36,000
	54,000
	90,000
	[2]

	Sale of assets
	
	
	
	20,000
	[1]

	Total receipts
	54,000
	63,000
	99,000
	164,000
	

	
	
	
	
	
	

	Payments
	
	
	
	
	

	Salaries
	26,250
	26,250
	26,250
	26,250
	[1]

	Bonus
	
	
	6,300
	12,600
	[1]

	Expenses
	9,000
	13,500
	22,500
	27,000
	[1]

	Fixed overheads
	4,300
	4,300
	4,300
	4,300
	[1]

	Taxation
	
	
	
	95,800
	[0.5]

	Interest
	
	
	3,000
	
	[0.5]

	Total payments
	39,550
	44,050
	62,350
	165,950
	

	
	
	
	
	
	

	Net cash flow
	14,450
	18,950
	36,650
	(1,950)
	

	Opening balance
	(40,000)
	(25,550)
	(6,600)
	30,050
	

	Closing balance
	(25,550)
	(6,600)
	30,050
	28,100
	[1]


[image: image2.emf]
(b)

1.
The number of properties sold each month indicates that Thorne Co experiences seasonal trends in its business. There is an indication that property sales are at a low level in winter and increase as spring approaches. A proportion of any cash surplus is therefore likely to be short-term in nature, since some cash will be required when sales are at a low level. Even though net cash flow is forecast to be positive in the January, the month with the lowest level of property sales, the negative opening cash balance indicates that there may be months prior to December when sales are even lower.

Short-term cash surpluses:
2.
Short-term cash surpluses should be invested with no risk of capital loss. This limitation means that appropriate investments include treasury bills, short-dated gilts, public authority bonds, certificates of deposit and bank deposits.
3.
When choosing between these instruments Thorne Co will consider the length of time the surplus is available for, the size of the surplus (some instruments have minimum investment levels), the yield offered, the risk associated with each instrument, and any penalties for early withdrawal. A small company like Thorne Co, with an annual turnover slightly in excess of £1m per year, is likely to find bank deposits the most convenient method for investing short-term cash surpluses.

Long-term cash surpluses:
4.
Since the company appears to generate a cash surplus of approximately £250,000 per year, the company must also consider how to invest this longer-term surplus. As a new company Thorne Co is likely to want to invest surplus funds in expanding its business, but as a small company it is likely to find few sources of funds other than bank debt and retained earnings.
5.
There is therefore a need to guard against capital loss when investing cash that is intended to fund expansion at a later date. As the retail property market is highly competitive, investment opportunities must be selected with care and retained earnings must be invested on a short- to medium-term basis until an appropriate investment opportunity can be found.


[5 marks]
(c)

In two of the four months of the cash budget Thorne Co has a cash deficit, with the highest cash deficit being the opening balance of £40,000. This cash deficit, which has occurred even though the company has a loan of £200,000, is likely to be financed by an overdraft.
Advantages of overdraft:

1.
An advantage of an overdraft is that it is a flexible source of finance, since it can be used as and when required, provided that the overdraft limit is not exceeded.
2.
In addition, Thorne Co will only have to pay interest on the amount of the overdraft facility used, with the interest being charged at a variable rate linked to bank base rate. In contrast, interest is paid on the full £200,000 of the company’s bank loan whether the money is used or not. The interest rate on the overdraft is likely to be lower than that on long-term debt.

Disadvantages of overdraft:
3.
A disadvantage of an overdraft is that it is repayable on demand, although in practice notice is given of the intention to withdraw the facility.
4.
The interest payment may also increase, since the company is exposed to the risk of an interest rates increase.
5.
Banks usually ask for some form of security, such as a floating charge on the company’s assets or a personal guarantee from a company’s owners, in order to reduce the risk associated with their lending.


[5 marks]
(d)
Discussion of Baumol model:
1.
The Baumol model is derived from the EOQ model and can be applied in situations where there is a constant demand for cash or cash disbursements. Regular transfers are made from interest-bearing short-term investments or cash deposits into a current account.
2.
The Baumol model considers the annual demand for cash (D), the cost of each cash transfer (C), and the interest difference between the rate paid on short-term investments (r1) and the rate paid on a current account (r2), in order to calculate the optimum amount of funds to transfer (F). The model is as follows.

F = ((2 x D x C)/(r1 – r2))0·5
3.
By optimising the amount of funds to transfer, the Baumol model minimises the opportunity cost of holding cash in the current account, thereby reducing the costs of cash management.


[2 – 3 marks]
Discussion of applicability to Thorne Co:
4.
However, the Baumol model is unlikely to be of assistance to Thorne Co because of the assumptions underlying its formulation. Constant annual demand for cash is assumed, whereas its cash budget suggests that Thorne Co has a varying need for cash.
5.
The model assumes that each interest rate and the cost of each cash transfer are constant and known with certainty. In reality interest rates and transactions costs are not constant and interest rates, in particular, can change frequently.
6.
A cash management model which can accommodate a variable demand for cash, such as the Miller-Orr model, may be more suited to the needs of the company.


[2 – 3 marks]
Marking Scheme
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Answer 3
(a)

Evaluation of change in credit policy

Current average collection period = 30 + 10 = 40 days

Current accounts receivable = 6m x 40/ 365 = $657,534

Average collection period under new policy = (0.3 x 15) + (0.7 x 60) = 46.5 days

New level of credit sales = $6.3 million

Accounts receivable after policy change = 6.3 x 46.5/ 365 = $802,603

Increase in financing cost = (802,603 – 657,534) x 0.07 = $10,155
	
	$
	Marks

	Increase in financing cost
	10,155
	[2]

	Incremental costs = 6.3m x 0.005 =
	31,500
	[1]

	Cost of discount = 6.3m x 0.015 x 0.3
	28,350
	[1]

	Increase in costs
	70,005
	

	Contribution from increased sales = 6m x 0.05 x 0.6
	180,000
	[1]

	Net benefit of policy change
	109,995
	


The proposed policy change will increase the profitability of Ulnad Co. [1 mark]
(b)

Determination of spread:

Daily interest rate = 5.11/ 365 = 0.014% per day

Variance of cash flows = 1,000 x 1,000 = $1,000,000 per day

Transaction cost = $18 per transaction

Spread = 3 x ((0.75 x transaction cost x variance)/interest rate)1/3

= 3 x ((0.75 x 18 x 1,000,000)/ 0.00014)1/3 = 3 x 4,585.7 = $13,757
[2 marks]
Lower limit (set by Renpec Co) = $7,500
Upper limit = 7,500 + 13,757 =$21,257 [1 mark]
Return point = 7,500 + (13,757/ 3) = $12,086 [1 mark]
Explanation of findings:

1.
The Miller-Orr model takes account of uncertainty in relation to receipts and payment. The cash balance of Renpec Co is allowed to vary between the lower and upper limits calculated by the model.
2.
If the lower limit is reached, an amount of cash equal to the difference between the return point and the lower limit is raised by selling short-term investments.
3.
If the upper limit is reached an amount of cash equal to the difference between the upper limit and the return point is used to buy short-term investments.
4.
The model therefore helps Renpec Co to decrease the risk of running out of cash, while avoiding the loss of profit caused by having unnecessarily high cash balances.

[2 marks]
(c)

There are four key areas of accounts receivable management: policy formulation, credit analysis, credit control and collection of amounts due.
Policy formulation

This is concerned with establishing the framework within which management of accounts receivable in an individual company takes place. The elements to be considered include establishing terms of trade, such as period of credit offered and early settlement discounts; deciding whether to charge interest on overdue accounts; determining procedures to be followed when granting credit to new customers; establishing procedures to be followed when accounts become overdue, and so on.

[1 – 2 marks]
Credit analysis

Assessment of creditworthiness depends on the analysis of information relating to the new customer. This information is often generated by a third party and includes bank references, trade references and credit reference agency reports. The depth of credit analysis depends on the amount of credit being granted, as well as the possibility of repeat business.

[1 – 2marks]

Credit control

Once credit has been granted, it is important to review outstanding accounts on a regular basis so overdue accounts can be identified. This can be done, for example, by an aged receivables analysis. It is also important to ensure that administrative procedures are timely and robust, for example sending out invoices and statements of account, communicating with customers by telephone or e-mail, and maintaining account records.

[1 – 2 marks]
Collection of amounts due

Ideally, all customers will settle within the agreed terms of trade. If this does not happen, a company needs to have in place agreed procedures for dealing with overdue accounts. These could cover logged telephone calls, personal visits, charging interest on outstanding amounts, refusing to grant further credit and, as a last resort, legal action. With any action, potential benefit should always exceed expected cost.

[1 – 2 marks]
(d)

Analysis of assets:

1.
When considering how working capital is financed, it is useful to divide assets into non-current assets, permanent current assets and fluctuating current assets.
2.
Permanent current assets represent the core level of working capital investment needed to support a given level of sales. As sales increase, this core level of working capital also increases.
3.
Fluctuating current assets represent the changes in working capital that arise in the normal course of business operations, for example when some accounts receivable are settled later than expected, or when inventory moves more slowly than planned.

[1 – 2 marks]

Short-term and long-term debt
1.
The matching principle suggests that long-term finance should be used for long-term assets. Under a matching working capital funding policy, therefore, long-term finance is used for both permanent current assets and non-current assets. Short-term finance is used to cover the short-term changes in current assets represented by fluctuating current assets.
2.
Long-term debt has a higher cost than short-term debt in normal circumstances, for example because lenders require higher compensation for lending for longer periods, or because the risk of default increases with longer lending periods.
3.
However, long-term debt is more secure from a company point of view than short-term debt since, provided interest payments are made when due and the requirements of restrictive covenants are met, terms are fixed to maturity. Short-term debt is riskier than long term debt because, for example, an overdraft is repayable on demand and short-term debt may be renewed on less favourable terms.

[2 – 3 marks]

Discussion of policies:
1.
A conservative working capital funding policy will use a higher proportion of long-term finance than a matching policy, thereby financing some of the fluctuating current assets from a long-term source. This will be less risky and less profitable than a matching policy, and will give rise to occasional short-term cash surpluses.
2.
An aggressive working capital funding policy will use a lower proportion of long-term finance than a matching policy, financing some of the permanent current assets from a short-term source such as an overdraft. This will be more risky and more profitable than a matching policy.

[2 – 3 marks]

Other factors
Other factors that influence a working capital funding policy include:

1.
Management attitudes to risk – it will determine whether there is a preference for a conservative, an aggressive or a matching approach.

2.
Previous funding decisions – it will determine the current position being considered in policy formulation.

3.
Organisation size – it will influence its ability to access different sources of finance. A small company, for example, may be forced to adopt an aggressive working capital funding policy because it is unable to raise additional long-term finance, whether equity of debt.


[1 – 2 marks]
ACCA Marking Scheme
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Answer 4
(a)

Uses of overdrafts

The overdraft is a key resource of finance for working capital because of its flexibility: the finance varies automatically up to the agreed limit, enabling the company to handle peaks and troughs in cash flows without incurring excess interest charges with the company’s cash flow. The potential disadvantage for an expanding company is that the overdraft limit may have to be frequently renegotiated. There is also a tendency for expanding companies to ignore the need to underpin their growth with longer term finance.

Need for other funds

When considering alternatives to the bank overdraft, it is essential to consider the need for longer term funds (loans or equity funds) to finance the permanent element of working capital. Although such funds may be more expensive than short term finance, they provide a longer term stability for planning.

(b)

Cash flow forecasts

(i)
No change in policies
	
	$000
	$000

	Operating profit
	
	1,326

	Add depreciation
	
	225

	Less: increase in inventory
	
	(275)

	increase in receivables
	
	(230)

	Add: increase in trade payables
	
	144

	Net cash flow from operating activities
	
	1,190

	Finance payments
	
	

	Interest
	54
	

	Dividends (622 – 283)
	339
	(393)

	Tax paid
	
	(283)

	Acquisition of non-current assets
	
	(550)

	Reduction in cash/increase in borrowings (25 + 11)
	
	(36)


(ii)
Proposals are implemented
	
	$000
	$000

	Operating profit
	
	1,326

	Add: Decrease in cost of sales (W3)
	
	150

	Less 2% sales discount (W1)
	
	(52)

	Revised operating profit
	
	1,424

	Add depreciation
	
	225

	Less increase in inventory (W4)
	
	(213)

	decrease in receivables (W2)
	
	74

	Less decrease in trade payables (W5)
	
	(86)

	Net cash flow from operating activities
	
	1,424

	Finance payments
	
	

	Interest
	45
	

	Dividends
	339
	(384)

	Tax paid
	
	(283)

	Acquisition of fixed assets
	
	(550)

	Increase in cash
	
	207


Workings:

	W1
	2% discount on 50% of sales = ($000) 2% x 50% x 5,200 = 52

	W2
	Revised receivables will be ($000): 750/2 + (2,600 x 10/365) = 446. Annual decrease in receivables = 520 – 446 = 74

	W3
	Cost of sales (excluding depreciation) is reduced by ($000): 5% x (3,224 – 225) = 150 reduction to 2,849.

	W4
	Inventory is reduced to ($000): 90% x 625 = 563. Annual increase in inventory = 563 – 350 = 213

	W5
	Trade payables fall to ($000): 2,849 x 30/365 = 234. Annual decrease in trade payables = 320 – 234 = 86.


(c)

	To:
	Ms Smith, Financial Manager

	From:
	Assistant

	Date:
	20 June 2010

	Subject:
	Evaluation of working capital management proposals


Receivables

Although customers are supposed to pay within 30 days, they are currently taking 45 days and are predicted to take 53 days next year. The discount scheme offered to customers who pay within 10 days is predicted to reduce the average payment period to (10 + 53)/2 days = 31.5 days. The discount cost, estimated at $52,000, will be partially paid for by interest savings on the reduction in average receivables of from $625,000 to $446,000. There is also the possibility of bad debt savings, which have not been quantified. A rough cost of this scheme is 17% per annum (see below) which is fairly expensive, and before implementing it, we should consider tightening up on our credit control procedures to speed up payments. This must be done with care and tact, in order to preserve customers’ goodwill.

Trade payables and inventory

Our original plans showed an increase in credit from suppliers from 50 to 56 days. The revised proposals will require us to pay in 30 days, but enable a 5% reduction in cost of sales through reduced prices and other purchasing costs. On the basis of our assumptions for the just-in-time policy, the projected financial effects are extremely good. Cost of sales is reduced by $150,000 and there are interest savings on inventory reductions of $62,500, and although these are offset by interest costs on the cash requirement to reduce trade payables from $464,000 to $234,000, the overall effect is beneficial. However, our predictions may be optimistic as suppliers are likely to require higher prices to deliver just-in-time. Also, this system will increase our dependence on fewer suppliers and will greatly increase the likelihood of production breakdowns due to lack of stock unless we implement higher quality processes.

Profitability and cash flow

Overall, on the basis of our projections, the scheme will improve profitability before tax by ($000) (150 – 52 + 9) = $107,000, a factor of 8%, and cash flow will be improved by $36,000 + $207,000 = $243,000 although there will be an impact on tax payable the following year. Despite some of the reservations above, the proposals are worth implementing.

Workings

	
	Next year
	Current year

	Average receivables payment period
	53 days
	45 days

	Approximate cost of discount is 2% for (53 – 10) = 43 days, that is 2% x 365/43 per year = 17% per year.

	Cost of purchased goods (cost of sales less depreciation): $000
	2,999
	2,345

	Average credit from suppliers:
	56 days
	50 days


Answer 5
(a)

Analysis of current assets:

1.
When considering the financing of working capital, it is useful to divide current assets into fluctuating current assets and permanent current assets.
2.
Fluctuating current assets represent changes in the level of current assets due to the unpredictability of business activity.
3.
Permanent current assets represent the core level of investment in current assets needed to support a given level of turnover or business activity.
4.
As turnover or level of business activity increases, the level of permanent current assets will also increase. This relationship can be measured by the ratio of turnover to net current assets.

[1 – 2 marks]
Short-term and long-term finance:
The financing choice as far as working capital is concerned is between short-term and long-term finance.
1.
Short-term finance is more flexible than long-term finance: an overdraft, for example, is used by a business organisation as the need arises and variable interest is charged on the outstanding balance.
2.
Short-term finance is also more risky than long-term finance: an overdraft facility may be withdrawn, or a short-term loan may be renewed on less favourable terms. In terms of cost, the term structure of interest rates suggests that short-term debt finance has a lower cost than long-term debt finance.

[2 – 3 marks]
Matching principle:
1.
The matching principle suggests that long-term finance should be used for long-term investment. Applying this principle to working capital financing, long-term finance should be matched with permanent current assets and non-current assets.
2.
A financing policy with this objective is called a ‘matching policy’. HGR Co is not using this financing policy, since of the $16,935,000 of current assets, $14,000,000 or 83% is financed from short-term sources (overdraft and trade payables) and only $2,935,000 or 17% is financed from a long-term source, in this case equity finance (shareholders’ funds) or traded bonds.

[1 – 2 marks]
Financing approach used by company:
1.
The financing policy or approach taken by HGR Co towards the financing of working capital, where short-term finance is preferred, is called an aggressive policy.
2.
Reliance on short-term finance makes this riskier than a matching approach, but also more profitable due to the lower cost of short-term finance. Following an aggressive approach to financing can lead to overtrading (undercapitalisation) and the possibility of liquidity problems.

[1 – 2 marks]
(b)

Bank balance in three months’ time if no action is taken:
[image: image5.emf]

[2 marks]
Bank balance in three months’ time if the finance director’s proposals are implemented:
[image: image6.emf]

[5 marks]
Workings:

Reduction in accounts receivable days

Current accounts receivable days = (8,775/49,275) x 365 = 65 days

Reduction in days over six months = 65 – 53 = 12 days

Monthly reduction = 12/6 = 2 days

Each receivables day is equivalent to 8,775,000/65 =$135,000

(Alternatively, each receivables day is equivalent to 49,275,000/365 =$135,000)

Monthly reduction in accounts receivable = 2 x 135,000 = $270,000
Reduction in inventory days

Current inventory days = (8,160/37,230) x 365 = 80 days

Each inventory day is equivalent to 8,160,000/80 = $102,000

(Alternatively, each inventory day = 37,230,000/365 = $102,000)

Monthly reduction in inventory = 102,000 x 2 = $204,000
Overdraft interest calculations

Monthly overdraft interest rate = 1·06171/12 = 1·005 or 0·5%
If no action is taken:
Period 1 interest = 3,800,000 x 0·005 = $19,000

Period 2 interest = 3,549,000 x 0·005 = $17,745 or $18,000

Period 3 interest = 3,517,000 x 0·005 = $17,585 or $18,000
If action is taken:
Period 1 interest = 3,800,000 x 0.005 = $19,000

Period 2 interest = 3,075,000 x 0.005 = $15,375 or $15,000

Period 3 interest = 2,566,000 x 0.005 = $12,830 or $13,000
Discussion
Working capital management implication:
1.
If no action is taken, the cash flow forecast shows that HGR Co will exceed its overdraft limit of $4 million by $1·48 million in three months’ time.
2.
If the finance director’s proposals are implemented, there is a positive effect on the bank balance, but the overdraft limit is still exceeded in three months’ time, although only by $47,000 rather than by $1·47 million.
3.
In each of the three months following that, the continuing reduction in accounts receivable days will improve the bank balance by $270,000 per month. Without further information on operating receipts and payments, it cannot be forecast whether the bank balance will return to less than the limit, or even continue to improve.
4.
The main reason for the problem with the bank balance is the $2 million capital expenditure. Purchase of non-current assets should not be financed by an overdraft, but a long-term source of finance such as equity or bonds. If the capital expenditure were removed from the area of working capital management, the overdraft balance at the end of three months would be $3·48 million if no action were taken and $2·05 million if the finance director’s proposals were implemented. Given that HGR Co has almost $50 million of non-current assets that could possibly be used as security, raising long-term debt through either a bank loan or a bond issue appears to be sensible. Assuming a bond interest rate of 10% per year, current long-term debt in the form of traded bonds is approximately ($200m x 2)/0·1 = $4m, which is much less than the amount of noncurrent assets.

[1 – 2 marks]
Advice on course of action
A suitable course of action for HGR Co to follow would therefore be:

1.
Firstly, to implement the finance director’s proposals and
2.
Secondly, to finance the capital expenditure from a long-term source. Consideration could also be given to using some long-term debt finance to reduce the overdraft and to reduce the level of accounts payable, currently standing at 100 days.

[1 – 2 marks]
(c)

Problems of credit granted to foreign customers:

When credit is granted to foreign customers, two problems may become especially significant.
1.
First, the longer distances over which trade takes place and the more complex nature of trade transactions and their elements means foreign accounts receivable need more investment than their domestic counterparts. Longer transaction times increase accounts receivable balances and hence the level of financing and financing costs.
2.
Second, the risk of bad debts is higher with foreign accounts receivable than with their domestic counterparts. In order to manage and reduce credit risks, therefore, exporters seek to reduce the risk of bad debt and to reduce the level of investment in foreign accounts receivable.

[1 – 2 marks]
Many foreign transactions are on ‘open account’, which is an agreement to settle the amount outstanding on a predetermined date. Open account reflects a good business relationship between importer and exporter. It also carries the highest risk of non-payment.
How to manage and reduce?

1.
One way to reduce investment in foreign accounts receivable is to agree early payment with an importer, for example by payment in advance, payment on shipment, or cash on delivery. These terms of trade are unlikely to be competitive, however, and it is more likely that an exporter will seek to receive cash in advance of payment being made by the customer.
2.
One way to accelerate cash receipts is to use bill finance. Bills of exchange with a signed agreement to pay the exporter on an agreed future date, supported by a documentary letter of credit, can be discounted by a bank to give immediate funds. This discounting is without recourse if bills of exchange have been countersigned by the importer’s bank.
Documentary letters of credit are a payment guarantee backed by one or more banks. They carry almost no risk, provided the exporter complies with the terms and conditions contained in the letter of credit. The exporter must present the documents stated in the letter, such as bills of lading, shipping documents, bills of exchange, and so on, when seeking payment. As each supporting document relates to a key aspect of the overall transaction, letters of credit give security to the importer as well as the exporter.
3.
Companies can also manage and reduce risk by gathering appropriate information with which to assess the creditworthiness of new customers, such as bank references and credit reports.
4.
Insurance can also be used to cover some of the risks associated with giving credit to foreign customers. This would avoid the cost of seeking to recover cash due from foreign accounts receivable through a foreign legal system, where the exporter could be at a disadvantage due to a lack of local or specialist knowledge.
5.
Export factoring can also be considered, where the exporter pays for the specialist expertise of the factor as a way of reducing investment in foreign accounts receivable and reducing the incidence of bad debts.

[6 – 7 marks]
ACCA Marking Scheme:

[image: image7.emf]
Answer 6
(a)

1.
The role of financial intermediaries in providing short-term finance for use by business organisations is to provide a link between investors who have surplus cash and borrowers who have financing needs.
2.
The amounts of cash provided by individual investors may be small, whereas borrowers need large amounts of cash: one of the functions of financial intermediaries is therefore to aggregate invested funds in order to meet the needs of borrowers. In so doing, they provide a convenient and readily accessible route for business organisations to obtain necessary funds.
3.
Small investors are likely to be averse to losing any capital value, so financial intermediaries will assume the risk of loss on short-term funds borrowed by business organisations, either individually or by pooling risks between financial intermediaries. This aspect of the role of financial intermediaries is referred to as risk transformation.
4.
Financial intermediaries also offer maturity transformation, in that investors can deposit funds for a long period of time while borrowers may require funds on a short-term basis only, and vice versa. In this way the needs of both borrowers and lenders can be satisfied.

[4 marks]
(b)

Forecast income statement:

	
	$m
	Marks

	Turnover = 16.00m x 1.084
	17.344
	

	Cost of sales = 17.344m – 5.203m
	12.141
	

	Gross profit = 17.344m x 30%
	5.203
	[1]

	Other expenses = 5.203m – 3.469m
	1.734
	

	Net profit = 17.344m x 20%
	3.469
	[1]

	Interest = (10m x 0.08) + 0.14m
	0.940
	

	Profit before tax
	2.529
	[1]

	Tax = 2.529m x 0.3
	0.759
	

	Profit after tax
	1.770
	

	Dividends = 1.770m x 50%
	0.885
	

	Retained profit
	0.885
	[1]


Forecast statement of financial position:

	
	$m
	$m
	Marks

	Non-current assets
	
	22.00
	

	Current assets
	
	
	

	Inventory
	3.66
	
	[1]

	Trade receivables
	3.09
	
	[1]

	
	
	6.75
	

	Total assets
	
	28.75
	

	Equity and liabilities:
	
	
	

	Equity
	
	
	

	Ordinary shares
	5.00
	
	

	Reserves
	8.39
	
	[1]

	
	
	13.39
	

	Non-current liabilities
	
	
	

	Bank loan
	
	10.00
	

	
	
	
	

	Current liabilities
	
	
	

	Trade payables
	2.49
	
	[1]

	Overdraft
	2.87
	
	[1]

	
	
	5.36
	

	Total equity and liabilities
	
	28.75
	


(Layout and format – [1 mark]
Workings

Inventory = 12·141m x (110/365) = $3·66m

Trade receivables = 17·344m x (65/365) = $3·09m

Trade payables = 12·141m x (75/365) = $2·49m

Reserves = 7·5m + 0·885m = $8·39m

Overdraft = 28·75m – 23·39m – 2·49 = $2·87m (balancing figure)
(c)

Working capital financing policies:

1.
Working capital financing policies can be classified into conservative, moderate (or matching) and aggressive, depending on the extent to which fluctuating current assets and permanent current assets are financed by short-term sources of finance. Permanent current assets are the core level of investment in current assets needed to support a given level of business activity or turnover, while fluctuating current assets are the changes in the levels of current assets arising from the unpredictable nature of some aspects of business activity.
2.
A conservative working capital financing policy uses long-term funds to finance non-current assets and permanent current assets, as well as a proportion of fluctuating current assets. This policy is less risky and less profitable.

3.
An aggressive working capital financing policy uses short-term funds to finance fluctuating current assets and a proportion of permanent current assets as well.
4.
Between these two extremes lies the moderate (or matching) policy, which uses long-term funds to finance long-term assets (non-current assets and permanent current assets) and short-term funds to finance short-term assets (fluctuating current assets)

[2 – 3 marks]
Financial analysis:
1.
The current statement of financial position shows that APX Co uses trade payables and an overdraft as sources of short-term finance. In terms of the balance between short- and long-term finance, 89% of current assets (100 x 4·1/4·6) are financed from short-term sources and only 11% are financed from long-term sources. Since a high proportion of current assets are permanent in nature, this appears to be a very aggressive working capital financing policy which carries significant risk. If the overdraft were called in, for example, APX Co might have to turn to more expensive short-term financing.

[1 – 2 marks]
2.
The forecast statement of financial position shows a lower reliance on short-term finance, since 79% of current assets (100 x 5·36/6·75) are financed from short-term sources and 21% are financed from long-term sources. This decreased reliance on an aggressive financing policy is sensible, although with a forecast interest coverage ratio of only 3·7 times (3·469/0·94), APX Co has little scope for taking on more long-term debt. An increase in equity funding to decrease reliance on short-term finance could be considered.

[2 – 3 marks]
(d)

Working capital management

1.
Financial analysis shows deterioration in key working capital ratios.
a.
The inventory turnover period is expected to increase from 81 days to 110 days,
b.
the trade receivables period is expected to increase from 50 days to 65 days
c.
and the trade payables period is expected to increase from 64 days to 75 days.
d.
It is also a cause for concern here that the values of these working capital ratios for the next year are forecast, i.e. APX Co appears to be anticipating a worsening in its working capital position. The current and forecast values could be compared to average or sector values in order to confirm whether this is in fact the case.
2.
Because current assets are expected to increase by more than current liabilities,
a.
the current ratio and the quick ratio are both expected to increase in the next year, the current ratio from 1·12 times to 1·26 times and the quick ratio from 0·54 times to 0·58 times.
b.
Again, comparison with sector average values for these ratios would be useful in making an assessment of the working capital management of APX Co.
c.
The balance between trade payables and overdraft finance is approximately the same in both years (trade payables are 46% of current liabilities in the current statement of financial position and 47% of current liabilities in the forecast statement of financial position), although reliance on short-term finance is expected to fall slightly in the next year.
3.
The deteriorating working capital position may be linked to an expected deterioration in the overall financial performance of APX Co. For example, the forecast gross profit margin (30%) and net profit margin (20%) are both less than the current values of these ratios (32% and 23% respectively), and despite the increase in turnover, return on capital employed (ROCE) is expected to fall from 16·35% to 14·83%.

[3 – 4 marks]
Analysis

Extracts from current income statement:
[image: image8.emf]
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[2 – 4 marks]
ACCA Marking Scheme:
[image: image10.emf]
Answer 7
(a)(i)

Period 1 closing balance

	Opening balance
	Cash flow
	Closing balance
	Probability
	Expected value

	$000
	$000
	$000
	
	$000

	(500)
	8,000
	7,500
	0.1
	750

	(500)
	4,000
	3,500
	0.6
	2,100

	(500)
	(2,000)
	(2,500)
	0.3
	(750)

	
	
	
	
	2,100


The expected value of the period 1 closing balance is $2,100,000. [2 marks]
(a)(ii)

[image: image11.emf]

[5 marks]
(a)(iii)

The probability of a negative cash balance at the end of period 2 = 0·02 + 0·12 + 0·06 = 20% [1 mark]
(a)(iv)

The probability of exceeding the overdraft limit in period 2 is 0·12 + 0·06 = 18%

[2 marks]
Discussion

1.
The expected value analysis has shown that, on an average basis, ZSE Co will have a positive cash balance at the end of period 1 of $2·1 million and a positive cash balance at the end of period 2 of $3·9 million. However, the cash balances that are expected to occur are the specific balances that have been averaged, rather than the average values themselves.
2.
There could be serious consequences for ZSE Co if it exceeds its overdraft limit. For example, the overdraft facility could be withdrawn.
a.
There is a 30% chance that the overdraft limit will be exceeded in period 1 and a lower probability, 18%, that the overdraft limit will be exceeded in period 2.
b.
To guard against exceeding its overdraft limit in period 1, ZSE Co must find additional finance of $0·5 million ($2·5m – $2·0m). However, to guard against exceeding its overdraft limit in period 2, the company could need up to $9·5 million ($11·5m – $2·0m). Renegotiating the overdraft limit in period 1 would therefore be only a short-term solution.
3.
One strategy is to find now additional finance of $0·5 million and then to re-evaluate the cash flow forecasts at the end of period 1. If the most likely outcome occurs in period 1, the need for additional finance in period 2 to guard against exceeding the overdraft limit is much lower.
4.
The expected value analysis has been useful in illustrating the cash flow risks faced by ZSE Co. Although the cash flow forecasting model has been built with the aid of a firm of financial consultants, the assumptions used in the model must be reviewed before decisions are made based on the forecast cash flows and their associated probabilities.
5.
Expected values are more useful for repeat decisions rather than one-off activities, as they are based on averages. They illustrate what the average outcome would be if an activity was repeated a large number of times. In fact, each period and its cash flows will occur only once and the expected values of the closing balances are not closing balances that are forecast to arise in practice. In period 1, for example, the expected value closing balance of $2·1 million is not forecast to occur, while a closing balance of $3·5 million is likely to occur.

[3 marks]
(b)

The factors to be considered in formulating a policy to manage the trade receivables of ZSE Co will relate to the key areas of credit assessment or analysis, credit control and collection procedures. A key factor is the turbulence in the company’s business environment and the way it affects the company’s customers.
Credit analysis

1.
The main objective of credit analysis is to ensure that credit is granted to customers who will settle their account at regular intervals in accordance with the agreed terms of sale. The risk of bad debts must be minimised as much as possible.
2.
Key factors to consider here are the source and quality of the information used by ZSE Co to assess customer creditworthiness. The information sources could include bank references, trade references, public information such as published accounts, credit reference agencies and personal experience. The quality of the information needs to be confirmed as part of the credit analysis process. Some organisations have developed credit scoring systems to assist in the assessment of creditworthiness.

[2 – 3 marks]
Credit control

1.
Once credit has been granted, it is essential to ensure that agreed terms and conditions are adhered to while the credit is outstanding. This can be achieved by careful monitoring of customer accounts and the periodic preparation of aged debtor analyses. A key factor here is the quality of the staff involved with credit control and the systems and procedures they use to maintain regular contact with customers, for example invoices, statements, reminders, letters and telephone contacts.
2.
ZSE Co has been experiencing difficulties in collecting amounts due because its customers have been experiencing difficult trading conditions. Close contact with customers is essential here in order to determine where revised terms can be negotiated when payment is proving hard, and perhaps to provide advance warning of serious customer liquidity or going concern problems.

[2 – 3 marks]
Collection procedures

1.
The objective here is to ensure timely and secure transfer of funds when they are due, whether by physical means or by electronic means.
2.
A key factor here is the need to ensure that the terms of trade are clearly understood by the customer from the point at which credit is granted. Offering credit represents a cost to the seller and ensuring that payment occurs as agreed prevents this cost from exceeding budgeted expectations.
3.
Procedures for chasing late payers should be clearly formulated and trained personnel must be made responsible for ensuring that these procedures are followed. Legal action should only be considered as a last resort, since it often represents the termination of the business relationship with a customer.

[2 – 3 marks]
(c)

1.
Profitability and liquidity are usually cited as the twin objectives of working capital management. The profitability objective reflects the primary financial management objective of maximising shareholder wealth, while liquidity is needed in order to ensure that financial claims on an organisation can be settled as they become liable for payment.
2.
The two objectives are in conflict because liquid assets such as bank accounts earn very little return or no return, so liquid assets decrease profitability. Liquid assets in fact incur an opportunity cost equivalent either to the cost of short-term finance or to the profit lost by not investing in profitable projects.
3.
Whether profitability is a more important objective than liquidity depends in part on the particular circumstances of an organisation. Liquidity may be the more important objective when short-term finance is hard to find, while profitability may become a more important objective when cash management has become too conservative. In short, both objectives are important and neither can be neglected.

[4 marks]
ACCA Marking Scheme
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